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B 4 BEAABEHRER B % BEALEEREHR BEAABEHRER B % BEALEEREHR
] ES it E % 5t ] % 5t E £ it
=¥ LN 0 0 0 | R=xK#H+ 611 653 1,264
AFARNE 0 0 0 | R=FEFII 2,982| 3,084 6,066
AFTRE 0 0 0 | K=FHEFA 0 0 0
= HIIET 1,383] 1,403 2786 |[FARK=E1TH 629 682 1,311
=#5TH 1,432) 1,429 2861 |[FAKE2TH 132 136 268
=#B6TH 3,789| 3,764 7,553 [FAAE3TH 687 684 1,371
RFER 7,022 7,224 14246 [EKE4TH 468 490 958
AFIEFEBAIAT 1,155 1,260 2415 | KFAXEIEAR 0 0 0
AXFER 1,565 1,655 3220 | KFXEMRF 0 0 0
RFIEE 255 287 542
AFiEFEHET 194 190 384
REFHET 802 803 1,605
KE= K 1172 1,225 2.397
RFFAF 514 549 1,063
REHNHFAREB 2,257 2,237 4,494
REFmEFHH 283 280 563
RFEHBLRK 89 89 178
AT EEFARE 0 0 0
REFFEMES 1,836) 1,913 3,749
RKETE 1,349 1,391 2,740
XRF_YE 893 938 1,831
AFERAFH 454 469 923
AFIEXR 12 15 27
AFHER B AT FH 5 6 11
BAR1TH 41 39 80
BAET2TH 47 4 88
EAB1TH 27 28 55
EARBI2TH 50 53 103
EARBISTH 83 66 149
754 1,460 1,572 3,032
RXFER 489 481 970
AF LR 236 233 469
AFHERBAR 1,137 1,153 2,290
REFHEFH® 912 959 1,871
KX=FERHA 433 436 869
A = 5 ES i
= A 36,885 37,917 74,802
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z S &t 2 % it C] % it 2 % it
AFXE 0 0 0
KFRK 0 0 0
AET4TH 2457) 2483 4,940
HABHE1TH 1,862 1,898 3,760
HARHET2T B 2281) 2345 4,626
AFAEA 0 0 0
B#E1TH 4742) 4009] 8751
BHfR2TH 6,362| 6,753| 13,115
BHERSTH 2,351 2,358 4,709
HiS|ET2T B 2082) 2189 4,271
AFMES 0 0 0
=FE1TH 4124) 4344 8,468
=FET2TH 2672) 2529 5,201
=[FEI3TH 2,807) 2813 5,620
=FET4TH 2,641) 2,606 5,247
SHEHE1TH 2,825| 2,608 5.433
SHEHHET2TH 1,729| 1,703 3.432
Al Ffr BT 2,465 2522 4,987
ZRHAT 3,853| 3853 7.706
TR T B 2224 2190| 4414
HEME2TH 513 736] 1249
AT 1,505 1,702 3.207
XFrE 0 0 0
+ =T 210 222 432
TEB1TH 2,381 2,453 4834
T EE2TH 2,199| 2,229 4428
S FHT 1,606 1,676 3.282
AFFEAE 0 0 0
A IERET 4514| 4708 9222
WE1TH 0 0 0
REB1TH 0 0 0
RiB2TH 0 0 0
RiB3TH 0 0 0
AN = £ E°4 =t
= A 60,405 60,929 121,334
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B 4 BEALEERER B % BEALBEEREY B 4 BEALEERER B % BEALBEEREY
2 % 5t E S 5t E] % 5t E S 5t
AXE6TH 179 180 359 | FHT1TH 140 143 283
XR7TH 195 208 403 | THET2TH 114 101 215
LEET1TH 1.267| 1341 2,608 | FHT3TH 997| 1,098 2095
ILRET2TH 1,263] 1,266 2529 |HET1TH 611 629 1,240
EHE1TH 477 488 965 |BRET2 T H 653 665 1,318
IHEET2T B 517 505| 1,022 [+ AET1TH 533 575 1,108
EHEI3T B 516 936| 1,052 |4k AKE2TH 624 576 1,200
EHET4T B 500 564| 1,064 |t AKEI3TH 533 564| 1,097
EEE1ITH 453 483 936 |t&ARET4TH 2477 2444] 4921
EMEET2TH 571 604 1,175 |SRET 2 2 4
XBE1TH 1879] 1,969 3,848 | KAET1TH 1,761| 1,743 3,504
XiBRT2T H 2,106) 2115 4221 | KpiET2TH 1,203 1,201 2.404
EOWET1ITH 1,901 1,997 3,898 | KEXET3TH 1,851 1,853 3.704
EDORNE2T B 693 728| 1421 |#5IET1TH 2,694| 2766 5460
JEDORNEIITH 897 914| 1811 |=#81TH 3,693| 3905 7598
HFHERT1 T H 560 604| 1,164 |=$82TH 2499 2440 4939
HFHERT2T B 1.190) 1386] 2576 |[=#83TH 733 698] 1431
E2A1TH 818 862 1,680 |=#84TH 2,222| 2,261 4,483
E2A2TH 554 580| 1,134 | /AT 4189 4,180 8369
E2R3TH 264 280 544 | KE{HET1TH 0 0 0
E2f4TH 3 3 6 [(KE{HHEI2TH 0 0 0
TFE1TH 961 882 1,843 | KE{HEISTH 0 0 0
TFE2TH 302 310 612
TFH3TH 615 575 1,190
=R(1TH 75 76 151
=RI2T B 161 156 317
=RISTH 336 306 642
=HT4T B 444 343 787
=RIST B 307 209 516
AME1TH 13 12 25
AMET2TH 22 22 44
AMEI3TH 556 587 1,143
HET1TH 27 20 47
HET2TH 38 28 66
HEISTH 200 170 370
A = 5 L8 g
A

H 48,389 49,153 97,542
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B 4 BEEAABEHRER B % BEALEEREHR B 4 BEAABEHRER B % BEALEEREHR
] ES it E % 5t ] % B
RIEAT1ITH 3538) 3577 7,115 [fNAE1TH 2 3 5 |EE2TH 841 808 1+649 - 5 5
KINEAT2TH 3195 3347 6,542 [NIEE2TH 2 0 2 |EE3TH 1,125| 1,038 2’163
RER 2 0 2 | KEFLZHE i 2 3 ’
WHE2TH 1 0 1| KFRIW 2 1 3
I U5 BT 3421| 3521 6,942 | KFRF 307 285 592
XFE 0 0 0 [ KFEXH 3,733] 3945 7,678
By 2011 2,095 4,106 | KF3EE 4092 4213 8,305
EfT1TH 187 196 383 | KFREEF 1,738| 1876 3,614
Efr2TH m 170 341 | K= H P98I 1,684 1,643 3,327
BHKRXE1TH 1,287) 1,254 2541 | KFHEETF 1,372 1,546 2,918
BHKRXE2TH 1,205) 1,211 2416 |HET1TH 78 90 168
BHAXE3TH 998| 1,199 2197 |HET2TH 183 177 360
HKXE4TH 2,196| 2225 4421 |HRET3TH 94 53 107
BHAXE5TH 1,293] 1,273 2566 | KF#HiE 1,250| 1,386 2,636
HAXE6TH 1,544) 1,495 3,039 | KFELE 303 288 591
BHKXKE7TH 2,067| 2023 4,090 |R{E1TH 583 557 1,140
REFHH 804 798 1,602 [iF{E2TH 423 389 812
A#1TH 169 178 347 |#{E3TH 623 601 1,224
FHi2TH 60 58 118 iFE4TH 0 0 0
FHIER 8 5 13 |I#{ESTH 101 87 188
AFI 229 242 a1 |EH1TH 1,491] 1,628 3,119
j:ff—%e 286 267 553 |EHF2TH 270 372 642
fﬁj TH 105 104 209 |EHITH 666 675 1,341
jezTE 73 64 137 |&E%4TH 594 604 1,198
Z483TH 290 322 612 | KFh4IE 489 476 965
AFHRFH 1,730] 1,895 3,625 A~ UEHET 1,110] 1,025 2,135
AFEAR 128 126 254 | KFEL BB 61 72 133
KXFEE 2,737| 2818 5555 |E~ /E1TH 45 53 98
AFmPE 2,900] 3,030 5930 |E~rBiE2TH 3 4 7
AFEmPH 3,803| 3,956 7,759 |E~ B3 TH 131 143 274
REFa)I| 3208) 3383 6591 |E~&/IEATH 41 32 73
KEFLOFA 301 334 635 | KF/INVEIE 2,522| 2617 5,139
AFAEILFFHEA 20 17 37 |EIET1TH 0 0 0
AREFEHFEIMFEH 39 29 68 |ENRT2T H 12 4 53
RENMBARFHE 1 2 3| EM1TH 597 605 1,202
A = ] Z it

H H 66,536 68,549 135,085
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B 4 BEEAABEHRER B % BEALEEREHR B 4 BEAABEHRER B % BEALEEREHR
] % it E % 5t E] % 5t E £ it
XELFES 0 0 0[/\TF4TH 239 267 506
L%&E1TH 1,229] 1,393 2622 |/\TFF¥5TH 751 809 1,560
L%&2TH 1,520 1,630 3,150 [FIE1TH 712 670 1,382
L%&3TH 936 919 1,855 | FiIg2TH 744 727 1,471
L%&E4TH 323 360 683 | FIE3TH 603 577 1,180
L%&E5TH 775 753 1,528 | FiIg4TH 401 398 799
Lt%&6TH 1,000 998 1,998 |MBAFE1T B 29 30 59
L%&7TH 1,051) 1,156 2,207 |MFEG2T H 250 261 511
L#*E&8TH 594 687 1,281 |HBER3T B 103 121 224
L#E0TH 451 476 927 |MFR4T B 442 426 868
AFTEE 1,410{ 1,597 3,007 |MPFE5T B 606 602 1,208
T%&2TH 703 752 1,455 |HB5R6 T B 66 66 132
T%E&3TH 791 865 1,656 |MBI557 T B 230 215 445
T%&4TH 628 622 1,250 |#FE1TH 578 595 1,173
T%&5TH 526 566 1,002 |#F2TH 403 407 810
T%&6TH 803 800 1,603 | ARETFE1T B 572 534 1,106
T%&7TH 579 566 1,145 | RETFE2T B 387 432 819
#/A/1TH 69 78 147 |ABTFE3TH 747 768 1,515
#HB82TH 492 485 977 | KRETFEATH 561 540 1,101
#/A3TH 579 521 1,100 | RETFES T B 510 553 1,063
#/B/4TH 1,189] 1,261 2,450 | RETFE6T B 130 146 276
#HA5TH 474 407 881 |KETEH1TH 451 475 926
#HA6TH 602 573 1,175 |[ABTHR2TH 460 485 945
#/A7TH 1,185 1,228 2413 |RAEJE3TH 465 467 932
#HA8TH 420 429 849 | KETHATH 735 748 1,483
#HA/9TH 133 88 221 |KETHES5TH 680 706 1,386
XF1TH 907 893 1,800 | ABTEHR6TH 429 430 859
KXF2TH 377 372 749 |KETHE7TH 1,337] 1,285 2,622
AXFE3TH 474 492 966 |FTHE1TH 849 830 1,679
XF4TH 673 691 1,364 [FTHE2TH 553 611 1.164
XE5TH 882 909 1,791 |$iHEI3TH 636 654 1.290
XF6TH 593 601 1,194 [FiHEBEA4TH 1,011| 1,075 2,086
ANEFI1TH 52 54 106 |$FHESTH 921 923 1.844
ANEF2TH 389 410 799 |FRARIL 23 31 54
ANEF3TH 818 786 1,604
A = 5 ES i
A

H 41,241 42,282 83,523
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] ES it E % 5t E] % 5t E £ it
KEFEE 0 0 0|RT81TH 403 369 772 | KFHAEXR 0 0
FEE1TH 324 310 634 |ETA2TH 366 400 766 | K= EF0EED 0 0
FaE2TH 931 866 1,797 |BTA3TH 653 573 1,226
FEIESTH 831 829 1,660 (BT84 TH 367 309 676
FEE4TH 1,282 1,314 2596 | KFRIILE 0 0 0
FEES T H 455 462 917 |FE1TH 499 511 1,010
FaE6 TH 891 807 1,698 |FTE2TH 1007| 1,065 2,072
FiE7TH 1,016 996 2012 | KFHE 0 0 0
FEESTH 653 641 1,294 [hEB1TH 828 767 1,595
FEIE9OTH 630 619 1,249 [hE2TH 388 342 730
FEIE10TH 297 315 612 |FE3TH 165 152 317
Al 0 0 0|FE4TH 318 284 602
X¥HEE 0 0 0 | K= 0 0 0
HE1TH 647 670 1,317 |RF1TH 570 498 1,068
HE2TH 585 570 1,155 |RF12TH 786 752 1,538
HE3TH 923 872 1,795 |RFI3TH 702 685 1,387
HE4TH 973 931 1,904 |RF14TH 487 456 943
HESTH 567 535 1,102 |RF15TH 545 525 1,070
HE6TH 1,336] 1,500 2,836 [FF16TH 531 460 991
HE7TH 77 97 174 | XKF AR 0 0 0
HESTH 245 194 439 IULARITH 364 338 702
HE9TH 233 174 407 ILAR2TH 485 465 950
HE10TH 674 651 1,325 | KF ERAR 1,904] 1,881 3,785
AFHbE 0 0 0 | RFTKRAR 1,981) 1,601 3,582
HER1TH 467 462 929 | KFAARER 2,533] 2,749 5,282
HER2TH 208 195 403 | KF#H 2,181 2,07 4,252
#FBSTH 1 12 23 | KFa# 3031 3,041 6,072
HR4TH 0 0 0| RFHR 162 156 318
AFES 8 3 11 | KFE 272 247 519
EiZ1TH 277 268 545 | K= A 774 811 1,585
EiF2TH 1,262) 1,228 2,490 | KFIER 683 688 1,371
EiF3TH 445 383 828 | K=HEFN 0 0 0
EiF4TH 0 0 0 [#%HE1TH 335 347 682
EiF5TH 0 0 0 [#%H2TH 517 523 1,040
RFHEH 2 1 3 [##H3TH 168 153 321
A = 5 ES i
= A 40,255 39,124 79,379
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_ L] ES it E % 5t E] % 5t E £ it
me]"l TH 634 645 1,279 |#t5A/3TH 649 715 1,364 |Rit2 T B 500 511 1,011 )
JfEHTzT B 613 643 1,256 |#t5 /4T H 1045 1353 2,398 |FiI#3T B 770 760 1’530
meT3T B 486 493 979 | EXRIBE1TH 1.375] 1495 2,870 | AX1TH 1,545 1,802 3’347
JfEHMT B 968| 1.060] 2028 | FKRIF2TH 928| 1,030 1,958 |AX2TH 1.148) 1,244 2’392
Jfﬂ]T5TE 563 573 1,136 | EKIG3TH 41 715 1,456 |[AA3TH 1.115) 1,157 2’272
JfEHTGTE 751 768 1,519 | ERIK4TH 671 680 1,351 |AX4TH 698 753 1’451
J=T'—11T7TE 892 929 1,821 | ERIGSTH 524 558 1,082 |AAXSTH 913 964 1’877
jiih_'—m]' 1,106) 1,162 2,268 | ERIE6TH 1003| 1,064 2,067 |STET1TH 1075) 1122 2’197
_.%691 TH 205 257 462 | ERIZ7TH 481 529 1,010 |SeRT2 T H 1,370 1514 2’884
_.%EszE 292 363 655 | ERIF8T B 239 245 484 |THT3TH 759 813 1’572
_.%j%TE 531 541 1,072 [ K1 TH 546 558 1,104 | KE1TH 1,251] 1,290 2’541
.%4_3%‘4TE 664 725 1,389 [ KiF2TH 693 682 1,375 | K¥E2TH 764 836 1’600
EX=t 735 768 1,503 [KIF3TH 285 288 573 | KE3TH 597 641 1’238
BT 1T B 567| _ 666] 1233 |AUSAT B 734]  763]  14907 |KF=15 4 1 1
HET2TH 658 731 1,389 [ KIFSTH 870 941 1,811 #4881 TH 498 517 1,015
HEISTH 687 735 1,422 |[SER1TH 750 779 1,529 |#48A2T B 687 719 1’406
HET4TH 719 787 1,506 [$EX2T B 497 473 970 | 2 [LIfT 799 881 1’680
fﬁﬂﬂn 1,304] 1435] 2739 |4BR3TH 784|  787| 1,571 |s@F0{hET1 T H 0 0 0
iﬁ1 TH 1,077 1138 2215 |$BK4TH 602 637 1,239 \HFN{FET2T B 0 0 0
iﬁzTE 922 998 1,920 [EXSTH 489 526 1,015 HFI{FEISTH 0 0 0
iﬁ3T B 1,370] 1,486 2,856 [fEK6TH 897 905 1,802 |;HFN{FET4 T B 0 0 0
iﬁ4T B 644 715 1,359 |7 TH 982| 1,073 2,055
iﬁST B 127 823 1,550 |#A~ 51T H 688 747 1,435
iﬁeT B 505 498 1,003 |#~ 52T B 804 833 1,637
iﬁ7TE 552 602 1,154 |~ I53T B 531 630 1,161
iﬁST B 432 492 924 | ¥4 TH 689 772 1,461
iﬁgT B 1,307| 1,340 2,647 |#E~IB5TH 796 845 1,641
EH#10TH 1.267) 1355 2,622 |ERiF1TH 720 728 1,448
LEF1TH 1,205 1.363) 2,568 |ENi52TH 92 102 194
LEfM2TH 971] 1,043 2014 | KE1TH 296 332 628
LEMSTH 1046) 1,165 2211 | KIE2TH 180 217 397
LEM4TH 159 176 335 | KIR3TH 10 9 19
LEMSTH 1,539] 1,635 3,174 | KIE4ATH 12 0 12
sty B/1TH 809 848 1,657 | KIFES5TH 0 0 0
sty 82TH 1083] 1,097 2,180 |RiT#h1 T H 980] 1,050 2,030
A = ] T it

|
H 64,066 68,647 132,713




HTAEE AN B EEHRER —ER

ﬁlz E30FE1283AR%E
SWV-FETRREREEERES
B 4 BEEAABEHRER B % BEALEEREHR B 4 BEAABEHRER B % BEALEEREHR
L] ES it E % 5t L] % 5t B
jcf&:i;? TH 1,022] 1,065 2,087 |AIFT4TH 289 290 579 |NA5TH 1,094] 1,055 2,149 - 5 5
jcﬁiajoE 851 810 1,661 [BIFFST B 542 559 1,101 |NA6TH 1,129 984 2’113
Fﬁfﬁm TH 1,253] 1,235 2,488 |AIFI6 TH 735 694 1,429 |NA7TH 679 669 1’348
EETI2T B 1,524] 1,532 3,056 |AIFT7 TH 1,382 1,409 2791 |MA/1TH 643 646 1’289
FﬁfﬁmTE 2975| 3,090 6,065 [fRE1TH 841 840 1,681 |FAA2TH 582 538 1’120
EHA14T B o8] 85| 183 [BE2TH 716] _ 687] 1403 |mMASTH 594] 561  1.155
AFARE 3715 3822 7,537 [#RF3TH 963 941 1,904 |FAARHET1TH 449 508 ’957
AHE2TH 809 883 1,692 [RF4TH 551 532 1,083 |FAAHT2T B 831 839 1,670
AHZE4ATH 755 797 1,552 |1BE5TH 1,383] 1,501 2,884 |#BA1TH 449 438 ’887
AHZESTH 1215 1,221 2436 |iB1TH 3091) 3174| 6265 |t4BH2TH 196 187 383
RFXAO 6,783 7.104| 13,887 [iBE2TH 715 714 1,429
AFHIEF 1,062] 1,042 2,104 |;B%3TH 0 0 0
AXFLETBE 940 995 1,935 [BS1TH 231 213 444
HiE1TH 482 362 844 |B2TH 282 260 542
HiE2TH 464 434 898 |BEFH®1TH 496 529 1,025
H#E3TH 1,156| 1229] 2,385 [EEFH2TH 445 451 896
BHiE4ATH 1.744) 1777 3521 |[BEFR3TH 784 752 1,536
BHIESTH 1.043] 1,052 2,09 |BEFR4TH 1009 980 1,989
BHiE6TH 1.126) 1,084 2210 |[BBEFR5TH 1,047 985 2,032
$1TH 1.185) 1,150 2,335 |[BEFR6TH 954 893 1,847
d2TH 972 945 1,917 [BEFR7TH 974 936 1,910
33TH 77 801 1,578 | KRS 0 0 0
$4TH 997 922 1,919 |[¥AR1TH 758 718 1,476
35TH 734 n7 1,451 |#¥AR2TH 526 495 1,021
t6TH 279 292 571 |¥AAR3TH 603 561 1,164
t7TH 752 716 1,468 |#¥AKRATH 541 485 1,026
i8TH 1,077 1125 2202 |HIAR1TH 665 626 1,291
XE1TH 979 941 1,920 |ghA2TH 733 696 1,429
XE2TH 1,314 1,263 2577 |#iIA3TH 677 667 1.344
XE3TH 1,648] 1,553 3201 |HIAR4TH 690 581 1,271
XE4TH 1171] 1,164 2,335 |HIARSTH 763 702 1,465
XE5TH 1173 1,135) 2,308 |AAR1TH 264 260 524
ABEF1TH 567 595 1,162 |R&2TH 406 384 790
AFF2TH 1,091) 1,139 2,190 |[NA3TH 785 680 1,465
AEF3TH 1123 1,164 2,287 |[N&4TH 825 769 1,594
- 5 & it
A 77,128 76,630 153,758
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L] ES it E % 5t E] % 5t E £ it
ABEZEITH 1,258 1,276 2,534 | KFRiE 12 9 21
AMAEITH 752 739 1,491 [IE1T B 562 437 999
AFXAO 79 89 168 | KF =% 0 0 0
FW1TH 1416) 1,461 2877 | KF#E 0 0 0
FRW2TH 1,473] 1,522 2,995 | KFEXE 0 0 0
RW3TH 684 787 1,471 |[BRAF1TH 103 124 227
FRWATH 1,534] 1,646 3,180 [ AfI2TH 653 662 1,315
RFGE 5845 6,155 12,000 |®AFISTH 631 561 1,192
REFXREA 3387) 3467 6854 |BIH1TH 557 599 1,156
RFRHK 999 1,046 2045 |B352TH 648 637 1,285
AFTFILOFHKHA 133 137 270 |¥AK1TH 449 485 934
AFERIHH 0 0 0 |#®K2TH 470 482 952
RFEZE 6,551| 6983| 13534 |¥AR3TH 742 781 1,523
EHLT1TH 424 489 913 |FBM1TH 495 544 1,039
E#Ht2TH 443 483 926 |BEI2TH 2,146] 2,024 4,170
EHLI3TH 259 305 564 |HUHIISTH 1,124) 1,196 2,320
BEHT4TH 187 776 1,563 |HEF4TH 874 844 1,718
KF K 481 393 874 |HBIISTH 701 758 1,459
AFERBET 266 245 511 |BEM6TH 609 614 1,223
AFHEFH 228 193 421 |FEFM7TH L) 1,212 2,323
XELFHHE 340 262 602 |BHHEIIST B 572 635 1,207
AFE4H 42 45 87 |BUHIOTH 488 539 1,027
XFRL 242 220 462 |XE1TH 99 114 213
XFFL 111 107 218 |£E2TH 35 31 66
RFKXM 3278) 3345 6,623 [EE3TH 311 282 593
KFIF 38 44 82 |EE4TH 1,229 1,222 2.451
AFHEE 372 360 732 |EESTH 590 591 1,181
AFTHH 315 311 626 |EE6TH 289 2N 560
KFREFHH 89 79 168
EA1TH 395 386 781
=EA2TH 628 647 1,275
ZE1TH 393 422 815
ZE2TH 371 385 756
ZRE3TH 700 735 1,435
KE=H 1 0 1
A = 5 4 &t
= A 49,814 51,194 101,008
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2 E:S &t e ES &t 2 S &t e ES &t
KFEH 1,954 1,911 3,865 |FHET1 T H 378 393 771 |IRHET 431 421 852 | KFHiR 127 125 252
KFAH 0 0 0 |FEET2TH 644 668 1,312 | KFERIR 719 673 1,392 | KFFHhF 594 631 1,225
AHITH 422 453 875 |FRAT3 T H 454 443 897 | KFEH 693 667 1,360 | KF A 483 473 956
AH2TH 424 432 856 |FRAT4 T B 630 617 1,247 | KFEAR 420 387 807 | LE1TH 314 318 632
AH3TH 41 42 83 |FaAT5 T H 605 599 1,204 | KFH#EARETH 217 193 410 | FE2TH 266 276 542
AR1TH 587 573 1,160 |BFSHT 425 413 838 | K F#IH 522 516| 1,038 |HWEH1 T H 236 242 478
A#2TH 337 348 685 | A & BT 709 697 1,406 | KFHE 128 113 241 |FWEH2T H 133 151 284
AANITH 498 518 1,016 |SSSEMT 597 609 1,206 | KFE7IH 347 330 677 |WE/H3TH 785 1,090 1,875
AAN4TH 374 383 757 |=H#T1TH 372 440 812 | KFE %A 17 20 37 |iWEA4TH 299 378 677
WET1TH 378 383 761 |=#T2TH 1,037] 1,007 2,044 | KF#.E 249 237 486 |fEA5T H 191 192 383
BE2 T H 322 300 622 | XFEETFE 25 29 54 | KF§.E#H 697 660 1,357 |HEWI1TH 241 258 499
HR1TH 206 195 401 |FEHE1TH 281 309 590 | KF 8tk 130 114 244 |REW2TH 120 135 255
HHN2TH 445 458 903 |FFEEF2TH 293 324 617 | XF&E1R 229 194 423 |REWITH 232 229 461
FW3TH 7 4 1 [FEFEHFITH 406 375 781 | K=FRH 740 691 1431 |HEHATH 518 508 1,026
FR4TH 171 174 345 [FEFEEHFATH 311 279 590 [ KF#EZBF 533 466 999 [RAEWSTH 367 338 705
WE1TH 443 460 903 [FAFEEHSTH 107 92 199 | KF/INE 1,350| 1,310] 2,660 [FRAHETH 2176 266 542
BE2TH 255 255 510 | XFEH 293 260 553 | KN 875 854) 1,729 |EE®E1TH 461 459 920
BE3TH 211 224 435 | KFKRHS 148 127 275 | KFREEF 847 848) 1,695 |EE®E2TH 457 464 921
BE4ATH 454 366 820 | XFiER 180 240 420 | K@t 250 259 509 |XE®E3ITH 294 282 576
HESTH 621 589 1,210 | XFXO 165 175 340 | KF L8 309 291 600
WAR1ITH 703 706) 1,409 | KFAR 129 130 259 | F¥1TH 435 448 883
HAR2TH 608 633) 1,241 | KFXAF 261 235 496 | F¥2TH 203 169 372
AR 660 592 1,252 | KFHFAEE 106 98 204 | EEF3TH 87 63 150
BHERE1TH 411 384 795 | KF AT 49 47 9 | L#HATH 8 9 17
ABERE2TH 361 366 727 | KFNE 52 59 111 | E85TH 0 0 0
AB1TH 325 308 633 [JIZ1TH 576 561 1,137 | F¥6TH 201 190 391
AE2TH 421 423 844 |MNE2TH 314 351 665 | KFH7 5 243 285 528
AHBI3TH 293 312 605 [JIZ3TH 35 28 63 |51 TH 10 5 15
ABI4TH 411 457 868 [IZ4TH 609 555 1,164 |5 /7352TH 19 13 32
AEISTH 302 308 610 [JIE5TH 519 469 988 | XFHHEFIR 61 71 132
AHE6TH 315 356 671 | KFHEIR 219 214 433 | KFEHEEE 818 782| 1,600
{HBI1TH 634 611 1,245 | KFEESF 144 174 318 [ KFREE 559 445 1,004
hET2TH 531 533] 1,064 | KFHalE 372 340 712 | K¥# 383 355 738
HE1TH 513 492| 1,005 | KFEH 547 559 1,106 | KF& & 515 520| 1,035
HE2TH 360 353 113 |XFA/T 71 58 129 | KFXRTE 693 706] 1,399
& =t C ES i
= A 47,393 46,996 94,389




